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(1) O BCOAC (2) O BC
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A C A 6 C
(2) | BC =
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7ﬁn0:gDDDDcm0DntDDDDDDDDDDDOD
0ooo0o((GOx 2)

cosf = tanf =
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(1) (14 sin45° 4 sin30°)(1 — cos 45° 4 cos 60°)
@) sin45° — sin 30°
cos 45° + cos 60°

(1) (2)

9 150°0000000000000000((20x 3)
sin 150° cos 150° tan 150°

10 0oooo (0oO0)00000000000000(10x 6)

1) The town (000 ) I grew up is very small.
2) Tell me the reason (O O 0O) you need so much money.
3

4

There was a time (0 0 O ) America belonged to England.
She is fond of candy. That is (O O O ) she has bad teeth.
5) They moved to Nagoya, (O O O ) they lived for ten years.

(1)
(2)
(3)
(4)
(5)
(6)

6) We traveled in August, (O 0 O ) our son had a vacation.

11 coooo (moo)ooooD[ 0 pODOOOOOOOO
0000000001 0x 6)

1

2

3

(1) The dog barks at me (0 O O) it sees me.
(

(
(4

(

(

(00O 0O) knocks, don’t answer the door.

(O O0O) sleepy he is, he prepares for his classes.
I will give you (O O 0O) you ask for.

5
6

Mr. Johnson carries his umbrella (O O O ) he goes.

— — ~— ~— ~— —

She spoke to (O O O ) sat next to her in the bus.

whoever, whomever, whatever,

whenever, wherever, however

12 oo2000000000010000000(20x% 3)

The city has a very beautiful park.
M9 o :
I'm staying there now.

() The day will come.
We will be able to travel in space then.

(3) I need not tell you the reason.
I got angry with you for that reason.

(3)

13 coooooooo (D00)ooooo 100000000
(20x 4)

(1) 0000000000000 D0ODODOO0OO0OD
Thisis (000 )(0 00 )(000O) the problem.

(2) 000000 DODOODOOODODODODOOOOD
(ODO0DO0)(OOO)DDoo), she will enjoy her life.

(3) 0000000 DODO0O0ODODODOOOD0O0OO0OOOOO
(000 )ODOO)OO0O) can join our club.

(4 000000000000 DODODOO0O0O0O0OOO
(D0D0)DOoo)(ooo)(oDO), she always seems happy.

14 coooooooooooooO(2Ox 4)

1
2
3
4

Please ask him if he can attend the meeting.
Let me know whether she’ll join the tour.

(1)
(2)
(3) The news that he got a gold medal delighted his family.
(4)

The trouble is that the shop is closed on Sundays.
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8 Dooooooo@EOx 2)

(1) (14 sin45° 4 sin30°)(1 — cos 45° 4 cos 60°)
@) sin45° — sin 30°
cos 45° + cos 60°

1) . @ | 3-242

9 150°0000000000000000((20x% 3)

sin 150° cos 150° tan 150°
1 V3 1
2 2 V3

10 0oooo (0oO0)00000000000000(10x 6)

1) The town (000 ) I grew up is very small.
2) Tell me the reason (O O 0O) you need so much money.
3

4

There was a time (0 0 O ) America belonged to England.
She is fond of candy. That is (O O O ) she has bad teeth.
5) They moved to Nagoya, (O O O ) they lived for ten years.

(1)
(2)
(3)
(4)
(5)
(6)

6) We traveled in August, (O 0 O ) our son had a vacation.

(1) where (2) why
(3) when (4) why
(5) where (6) when

11

00000 (000)00000[ 0 po00000000O
0000000001 0x 6)

1
2
3

(1) The dog barks at me (0 O O) it sees me.
(

(
(4

(

(

(00O 0O) knocks, don’t answer the door.

(O O0O) sleepy he is, he prepares for his classes.
I will give you (O O 0O) you ask for.

5
6

Mr. Johnson carries his umbrella (O O O ) he goes.
She spoke to (O O O ) sat next to her in the bus.

— — ~— ~— ~— —

whoever, whomever, whatever,

whenever, wherever, however

(1) whenever (2) Whoever

(3) However (4) whatever

(5) wherever (6) whoever

12 oo2000000000010000000(20x% 3)

The city has a very beautiful park.
M9 o :
I'm staying there now.

() The day will come.
We will be able to travel in space then.

(3) I need not tell you the reason.
I got angry with you for that reason.

(1) | The city where I'm staying now has a very beautiful
park.

(2) | The day will come when we will be able to travel in
space.

(3) | I need not tell you the reason why I got angry with
you.

13 coooooooo (D00)ooooo 100000000
(20x 4)

(1) 0000000000000 D0ODODOO0OO0OD
Thisis (000 )(0 00 )(000O) the problem.

(2) 000000 DODOODOOODODODODOOOOD
(ODO0DO0)(OOO)DDoo), she will enjoy her life.

(3) 0000000 DODO0O0ODODODOOOD0O0OO0OOOOO
(000 )ODOO)OO0O) can join our club.

(4 000000000000 DODODOO0O0O0O0OOO
(D0D0)DOoo)(ooo)(oDO), she always seems happy.

(1) how he solved

(2) | Wherever she lives

(3) | Whoever likes music

(4) | However poor she is

14 coooooooooooooO(2Ox 4)

1) Please ask him if he can attend the meeting.

3
4

(1)

(2) Let me know whether she’ll join the tour.

(3) The news that he got a gold medal delighted his family.
(4)

The trouble is that the shop is closed on Sundays.

(1) | 00000000000 OODOOOOOO.

(2) | 00000000000 DOOOODOOOOOODOO.

(3) |0000000000U000O0O0OUD(0ODoOo
0000 —-)0000000oooooo.

(4| 00000000000 DOOODODOOOOO0.




